7000 GeV pp Top (Ipartlon !eve])

Ratio to Herwig 7.2.1 default

— L | 2
c
- — O
, A@ (ttbar) (Mtt > 450 dy < 0) >
— --3-- Herwig 7.2.1 default ==
- —A— Pythia 6.428 370 A
| —4— Pythia 8.201 default =
.......... =
102 ¢ Sherpa 2.2.9 default o
— ’ - =

I 0 ‘,/’A —

I V/AA ]

7.

10 - e = -
— 2 — ©
: [/X] '. : %)
B PG '. ™M
I 2 X a ' 1©
— A = & —1S
AAS Sas ¢ ¢ O‘_r')
1= = i - — .=
= Aié.. »* 3%
A AAAAALAALEREE 0--0"’”’ -5
CEEEEBERETTE T et 415
R ¢ <
B X O o
(@]
— wn
=l
18
I =

T t | _
=2

o4t

: +? :

B _ ¢ y |

4 ¥t IR B SV SV LA
05 = 7L v T e 05
Y S ?]" A R S R Ll
0 1 2 3



	Contents
	Page 1


